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daga cilaylas )
S (£0) Glaie¥) Al S Al 2xe -
Jada (YA) glaie¥) il £ Ciladia aae -
Sl g gl olaiel) Al S cladia die Gy Al a8 5 e U -
(lela EDE) LAY (e -
An D (Te) DU Al ds 0l -
pAgling claglatl) oda B .. lllall (g 350
ALY e anl Lghpn g Al dadie s laie¥) Al S dadia (e JS 8 13 cilagledl) § 3
Ala) B el U8 s 48 S8 iy JIsadl 18
AUy e aladind ade 5 ecila gyl (8 alia )l lal g ¢ Aladl (5 5Y) Calall Gl aadi
dalisad dalall Al s Lladl daadid) Al ) 8 Caal ddlaal) Al elils) xie
Ll 3LEY) e 33 sl ladin 3 e JLeSind (S (5 A
e JS (o e Baal g dady LlaY) qgthaall g ¢ pladd daa s i) )
. did (B) 5 (A) o ol A LEaY) AdEd) ALY e olila) vie
T g O e (a JUEAY) Aliud ce dila) die
s JS0 SLS SLUss dgaall Ay e JIal) el cald s yalall Qi
s (C) dagaall Aay) 10l
@
% : dasasal) 4laY)
@
Anina LY cead dasaias Als) Cual s el cad o cad s cunl 13 e dlls A -
Lot ) ot Uad Als) Gl s hadlly a2 ¢ A Al Cual 1Y Lol 45 -
; 40 gata
Al gl Say e SSH e ST a5 )3 (Adaia G JLEAYY) A gua gal) ALLY) Al
Mol LYl el ¢ Alay) )
y
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Write all the chemical equations

balanced including the conditions of

the reaction:
Answer the following questions:

1- Choose to answer (a) or (b) :

Write the scientific expression indicated

by the following sentence:

(a) The systems which convert the stored

chemical energy to electrical energy
through a spontaneous irreversible

oxidation-reduction reaction.

(b) The mass of the substance that has the

ability to lose or gain one mole of the

electrons during the chemical reaction.

A0S OY b aall 2 tex LIS
cJelald) do g ol )SD ae A e
z'&.ﬂ%" :\.\fmi"&c%i

(@) 91 (1) o Al M1 i - )
13kl le JIAN elal) allawatl | CIS)
LleesS ABUAT (9o Lgud @i Aotadh (1)
I (e 2o pgS A8l ) 235551
e LA J13is g BuuST Jolas

NP LISY

9l Aad o B Hual Lgt S Baledl ALS) (o)
£ LT Ol g AT N (yo i lg Jgo wludS)
ciSleasSI Yol

2- Choose the correct answer:

ortho-Chloro methyl benzene can

prepared by:
@ Reduction of phenol; then
halogenation of the product.
@ Halogenation of toluene.
Reduction of phenol; then
alkylation of the product.

@ Alkylation of toluene.

2

be

3 M‘ :\..ﬂqn}"#‘ =Y
 (pe gt (3 Jkee 93948 5% 51 S pol

LI Ads @3 Jgial! J15s
st slalt dimla
oL AT @3 I gicatt g1

9T slatf AUy

ONONORS)

MS’|@G
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3- Write the name of the salt: + ll) el SIS Y
A salt solution with silver nitrate forms = | @ Jstows 4l cacsl mls Jolons
a black precipitate and by passing e sye Taly dgead ol O9SIB Dunat|
hydrogen sulphide gas through it in kel (udd J glomn (5B (a2 g )ubigl | s S
acidic medium by hydrochloric acid 0355 LSl Ry plened|
forms also a black precipitate. bl sl ol

4- Choose the correct answer: ¢ Aovouall Al W) s -8
Glycine is an example of: s polen Y1 Al (o (pmaan Mt | iy

@ Hydroxylic acids. S g gl @
@ Amino acids. PRI @
@ Aromatic acids. Jaile gy @
(@) Fatty acids. awa ()

5- Explain: ¢ uud -0
Methyl orange is not used to distinguish | w2 a5 -t el p i ¥
between sodium chloride solution and Slrauly paguall oy ysiS o glome (i
ammonium acetate solution. poigadl

3 vl 1]
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6- Explain: i -
The fuel cell differs from the other LSS (o Ly (ye 398 g1 s CaLiSnS
galvanic cells. PIIEIEN]

7- Choose to answer (a) or (b): () 91 (1) oo Al M1 15 -V

1ole Juas a8 AiluaSH OY alatly g
S0t (e il 9a,SH e (1)
SOL (e cnil 9o 5 2,1 (@)

Show by chemical equations how to obtain:
(a) Carbolic acid from benzene.
(b) 1,2 dibromo ethene from methane.

4 MS’|@B
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8- 10 g of impure KOH sample was KOH (0 i@y e wive (e 10 g cusi -A
dissolved in water and completed s 500ml 31 stmedt JasSTy slatf 8
to become 500 ml. If 10 ml of this 15 Ml po Jgtonatt 128 0 10 Ml gstss
solution neutralized with 15 ml of 0.2 | ,; < 51 506,001 e Jgtoe (ys
M hydrochloric acid. Calculate the 02 M
percentage of KOH in the sample. il o2 KOH 2 coust

[Providing: K =39, 0 =16, H=1] (K=39 .0-16 . H-1 :sis Late)

9- How to distinguish practically Sl ST paes (s Liles judd S -4
between diluted sulphuric acid and S Sl S (aas g Laa Sl

concentrated sulphuric acid by using | zsd! g S plisdal
iron. Write the chemical equations. Ak O alatly

5 Al 1]
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10- Choose to answer (a) or (b) :

Write the scientific expression

indicated by the following sentence:

(a) Determining concentration of known
volume of substance by using another
substance known its concentration
and volume.

(b) A solution of known concentration is
used to determin the concentration of
unknown solution.

() 91 (1) pe Al ¥ juni -\

e JIA melal! zlla st CS)

+ 3 ylaalt

33ls (4 polan @ iS5 (as (1)
83le (po (ptae e g S )5 Araglacy
NIy

Oad oSl 58 Yl pglas Jgloe (22)
ST Jggma T Jglome 548 )3

11- Using the following table how to PP RN i [ PHWPK (0 s DM

distinguish practically between: 1o Lilas

Ethyl alcohol and dimethyl ether O9u2) el | LS 3l At ¥ J 9ns|
. . k (AdileasS O¥ alan

(without chemical equations)
Reagent Ethyl alcohol Dimethyl ether

ad\sd G Jas et ALS 0

6 bt [ 2]¥]
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12- Choose the correct answer:
In the opposite figure:
The (K¢) value is:

@ Equal one.
@ Greater than one.

@ Equal zero.

=S —d1 conc.

1 donouall Aol Wi el =\ Y
Jalielt JSAH B
: Kc::‘-‘*:.‘-3

REENPN (TP PP} @

9Ty yS) @

Ao gglud @

a3l

Products

OMelat!
Reactants

@ Less than one.

13- Explain:
Iron that plated with tin corroded on
scratching faster than iron.

PSP E @

o33! time

t o =\Y
e ieadtly et iis ) uany
RSV I REPURRNEN {

14- Calculate Kgp of calcium fluoride,
CaF,: Providing that the degree of
solubility is 2x10™ M.

P ot 1S3 A yat Jotomat Kgp cowst -1
A0lgd Aoy of Cale 131 CaF,
2% 10" M g gebadt

7
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xJ.m.'ﬁ-\o

15- Explain:
On adding magnesium sulphate to O pgeid Lt | Sl S Jglone 2BLS| e
el 05 poagall Oliga S Jolos

sodium bicarbonate solution, the ppt. is ey
formed after heating. S

16- Choose to answer (a) or (b): () 91 (1) s a1 yid -\
Show by chemical equations how to S Al S¥abadlly il
obtain: sy e D "’t“""‘“‘;")’

(a) Iron (H). chloride .from iron (I) oxalate. | =~ > ) Q(Jﬁf
(b) Magnetic iron oxide from iron (III) S 5y (o cpaitolis gt cosasST ()
hydroxide. s(III) s
8 Al [ 2]¥]
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17- Show by a chemical equation: ¢ ADLeadSH Aralaally udg -\ V
The effect of nitration of 1,2,3- eaS gy 535 -3,2, 1 5,00
trihydroxy propane, then write the name ) S el el ST e - Olg

o dcen]
of the product, and its importance. T

18- Explain by a practical experiment the | ol ;S0 31 gl a0 g il -1 A
effect of concentration on the rate of | =25 g Pl Jolad! Juae
chemical reaction. ST Aalatly

Write the chemical equation.

9 Al 1]

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5 91 - (2 3o WAL ) £ LeassSH- Yo YA/ Y+ AV aal 5l81 ALad) - Aol A 93 LM 2wl 51 L3N 3 30 (3 Lol

19- Choose to answer (a) or (b) : 1(2) 91 (1) He Al M1 5T - 14
Write the scientific Expression 1Bkl e JI elall AlllalfCus|
indicated by the following sentence: (§ anable St LR e RR )
(a) The elements in which the sublevel Ranalon 3291 b oy A et

Al e Jgantt lgie gl aulas) ()
Adee cewlis .\_J..t:-..ﬂ‘ﬂ_&o.nij__e.i.m

(4d) is filled successively and they
are found in the fifth periods.

(b) The process of obtaining the iron ore R
in a small size suitable to be reduced
easily.

20- Choose to answer (a) or (b) : () 91 (1) e Al ¥ pui - Y
How to detect practically by using oo Ak Wil Liles Lo iS5 S
the main experiment, explain by FileesSI Ahalaetly s 5!
chemical equation: $p 9l ISI 09518 (1)

(a) Calcium cation. $(ID) spamtt 05518 ()
(b) Iron (II) cation.

10 MS’|@G
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21- Choose to answer (a) or (b) :

Explain:

(a) The law of mass action is applied on
ammonium acetate solution and is not
applied on sodium chloride solution.

(b) The reactant molecules could colloide
with each other and no chemical
reaction takes place.

1(@) 91 (1) oo Al T - Y
Jlone (Lo LS Jad (9318 ot (1)
Jsloms e Glats ¥ p g g ¥ Olibusd
poagall wyels
e Uelaiall slget| Sl s pudaial 48 (o)
~Jelal G Vg Lgians

22- Choose the correct answer:
Dilute hydrochloric acid 1s used to
detect the anion and cation:

@ Carbonate and calcium.
(b) Nitrite and silver.

@ Sulphate and mercury.
() Phosphate and lead

23- Explain:
The colour change by heating nitrogen
dioxide gas which is in a closed glass
flask at room temperature. Write the
chemical equation.

+ Asweuall Al NI ) -YY
addall il s 9lS g gl | e puSiun
1096518 9 O 90 (pe 2SI B
gt 1S3 Ol ga S @
Aaallg Co yicd | @
GGl ()
coolo Mg Oilaw gat s @

A (9l (-8 Salond) p @il g - YT
9y Gae ) (3)93 (Sl
A3 (B (e 9 ) ST A e
Aalaelly i gt ae (Ad pall 3yl p

- W) PPN ]

I
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24- Choose the correct answer: s Aomvouiall Aala W1 il - Y8
The 1ons which have the electronic GHa TSI oS T g uﬁmbsﬁz
configuration [Ar], 3d* are: s [Ar] , 3d
@ Mn?*/Co* Mn**/ Co*" (D
® Fe*'/ Fe'/ cr't ©
© ¥/ Mn** /M’ &)
@ Fe**/ Mn®* Fe?*/ Mn** @

25- A galvanic cell consists of zinc electrode | (et (o Laldad Aolals A us -Yo0

and standard hydrogen electrode. 1 L@ (e 9 y-ugh
First : Write the cell diagram for this | 2316t oMo a0 cas! ¥
cell. I3 A3ty Zcs oS Aad 1?1 5 gt ) ol LGS

Second: Calculate the emf of this cell, | =<l guleddl gl lags ols

If the standard reduction w52 (-0.76)
potential of zinc is (-0.76) volt.

12 MS’|@G
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26- Complete the table :

1S Jgantt JaST =¥

polymer
e gt

Type of polymerization
3 peldleod

Structural formula of the polymer

ol 5ald AL Rl

Dacron
RS

27- You have a piece of leather, show by
a practical experiment how to detect
the presence of carbon and hydrogen
in the structure of leather. Write the
chemical equations.

Ol Lles Codh CauS Aot (po Aatad ST - YV

Ot i 9 5bgl 19 (92550 (S il

OYsladl by mus sl po St oS 5 2
W PPw ]
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28- Choose to answer (a) or (b): () 91 (1) (e Al W1 5T - YA
Write the name of the organic compounds | ole J1! Gs—aatt oS rolf pw! CS)
indicated by the following sentence: sadL 3)}9-‘“
(a) the simplest hydroxyl derivative of | 9%>* ”w"%d”“"“@mt“”j» ®
. cla gl
arom.atlc hydrocarbon. o 3! ol e i b}
(b) the simplest hydroxyl derivative of e
aliphatic hydrocarbon.

29- Calculate the concentration of (2 (it 99gh) (39mdl S 3T i | - Y4
hydrogen ions of 0.1 M solution of  |o2e> 3 0.1 M 05.85,5 Jgtone
formic acid. Providing that ionization aiali Colb ol Lete ﬂ:«»ﬂé '
constant of it is 1.8x 10~ 1.8 10

14 Al 1]

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5 91 - (2 3l WAL ) £ LeassSH - Yo VA/ ¥+ W 501 A Lad) - Aol A 3L Aaal 51 LGN 3 3G (5 Lochn!

30- Using the table, write the IUPAC names | pw¥! <GS/ quagalt J gl Cosalise -Y
of the two following compounds:

OmttS pall S0 pLEALY (5 LiaST

3 Mm‘
Chemical formula IUPAC Name
S rall A0 LS Adual! Sl allas @uw!
B
H-CEC-(Ii-Clj-H
BrH , wh&mdd AN T e e\ R
CIl
CI
Br

31- On adding concentrated nitric acid to
iron, a thin layer is formed on it which
prevents the metal from further reaction.
Write the name of chemical material
that can be added to remove this layer.

paex g Lol auasdf (pe dalad clyut - ¥
Ol Lgale Aad ) Aade 00 95D S pa by 5
-Jelat i
S S (A LasSI S el uat S
JAadall ol AN AXBLS|
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32- Show the total reaction in mercury Ealant) SH oo Lo Atslae IS -Y'Y
cell indicating on it the oxidation and | cides lede Lnidge (G031 Ads 8

reduction processes. 1Y g Bus Y
33- Choose the correct answer: : Aomuialt Aala W1 ) Y
The 0.1M solution which contains a e g ittty 0.1 Mojs 5 gatt Jglonatt

higher hydronium ions is: shone 52 25159080 Sisal 0o 555 e

CH,COOH CH,;COOH
3 3
@ NaCl NaCl @
Ba(OH) Ba(OH)
2 2

@ KBr KBr (3)

16 MS’|@G
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34- Choose to answer (a) or (b): (@) 91 (1) o Al ¥ 5 -Y'¢
Show by chemical equations how to | Je>i S 2oL S¥slaal iz
obtain: role
(a) Sodium benzoate from toluene. (099l e pgasgeal Slasis (1)
(b) Benzamide from benzoic acid. PR phe Gt el (5

35- Show by chemical equations how to 1 A0 LeaST) O s laetly g - YO
obtain: 3095972 (0 033lsg >l e Juaan S
Propanone from 2- bromo propane. 0k »
1 7 Al 1]
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36- The opposite figure represents the R (v (X
electroplating of metallic rod by a R pews Ao Ads (e ey
layer of silver. -Anal (e Adday dddae Blw ¢ Mo

I
AgNoO,

First : What occurs in the electrode a8 pe (B) cotaatr ey 13l <3y
(B)Write the chemical equation AileaSI Alslasd)
Second: Calculate the mass of silver uie Lo ylat) Auadl| 38 oaunl g3l

0.1 Lo 508 2y 5531 (g0 S 5950

deposits on passing a quantity Ag =108 oL Leie cotaiyls
. — : QEUELP)

of electricity of 0.1 Faradays
[Ag = 108].

18 'A.L‘w‘}”@ti
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37- Choose to answer (a) or (b) : () 91 (1) e Al W1 5T ¥V
Write the balanced symbolic equation | »e3 i1 259031 G 31 aalaedt IS
that expresses the following: oo

CH;COO™] [H;0"
@ K, [CHCOOT[H:0T o
[CH;COOH]
NH,"] [OH
b K- [NH, "] [OH] (o)
[NH;]

38- Choose to answer (a) or (b) : () 91 (1) (e Al W1 5T -YA
Explain: ' p—wd
(a) Substitutional alloy can be obtained | zdivouw! asiw e Jgamtt (Sas (1)

from ferronickel. § STl st | (e
(b) Titanium element has high melting | sLasn 5 s im s plasy (o)
and boiling points. $p 5L | paiad
1 9 vl 1]
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39- Choose to answer (a) or (b): 1(2) 91 (1) (e Al M1 i -¥4
How to distinguish practically between: |  =¥3lae 09:) i bilas jusd S
(without chemical equations). H(Aokes

Spslell Ol Sy 4o bd ) Slawsd (1)
Sanal Olowgd g dnall dua g (u)

(a) Barium phosphate and barium sulphate.
(b) Silver iodide and silver phosphate.

40- Show by chemical equation, how to | (sl a8 Aol st Aalally mdg -¢

obtain salicylic acid from aspirin. 0¥ (0 il e Lo
41- Choose the correct answer : + Aomvouall Al W1 55 - € )
ScCl; compound is : :ScClL Sl
@ Paramagnetic and coloured. sy udoline 5l @
(b) Paramagnetic and colourless. Ogle yud g Grunlalise Ll @
@ Diamagnetic and coloured. Osbey rudaline Ly @
(d Diamagnetic and colourless. Oste s prtoliin s (2)
20 atd 1]
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42- In the equilibrium system: 1 T O3 AL B - £ Y
250, + Oy = 2503 , AH = () 280y * Oy = 2805y , AH= ()
What is the effect of the following on the | 553 -l 2311 S| 551 Le
sulphure trioxide concentration: s {“"*‘"“S' “‘""
First : Withdrawing (removing) the PISEN e 0t DS o0

oxygen from the reaction. RSIE AL
Second: Increasing pressure.

43- Show by chemical equations: A, A0l SN OWalaally dg -£ Y
The preparation of benzene in lab; then | —2=Sy 30—eaalt - s i) iaoni
show how to obtain benzene sulphonic | $kesdlu (i pae> e dis Juai
acid from it.

21 Al 1]
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44- Calculate the time required to
deposit 1.8 g of aluminum Al?” when
performing electrolysis of molten
bauxite on passing an electric current
of strength 10 amperes.

Ao 1.8 oy a3 (oo 30 crwn ! - £ £

MomAl”»@,ﬁﬁ}.@y

ALy CoruwsS 901 Hg¢—aal (o ST
el 10 aSui HLs

45- Two organic compounds have the general
formula (C H,,), one of them saturated
(A) and the other unsaturated (B)

Show by chemical equations how to obtain:

First : The saturated compound (A)
from benzene.

Second: Dihydric alcohol from the
unsaturated compound (B).

Aolall Aacal Legt Olig—iae (LS 0 -£0
22¥19(A) guiis Leaas 1 (CpHpn)
.(B) s 52
a8 AdleSN O¥slaetly mody
1 ole Juasd
$00301 (30 (A) il o8 a1 Y]
S el (po a9 juigh LS JganS LW

$(B) peiiatt ;e

Al Cgl
22
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